2
3
4
5

g
28

Y o T
l - (A/I/'L'; /!6 ,,"
. HUSTLE .

. VERSIOM 3.6
. BY SUPER SOF TWARE

:RETURN ;NT=8;BC=248;FC=125;5=0; T=45; J=5; CLEAR ;GOSUB 10800;G0T0 88
G=RND (135)-68;H=RND (6B)-35; I=RND (38)+8;P=RND (16):Cx=G-3;C¥=H; IF (P>18Jb

(P<14IPRINT 77",

22
23
24

48 I

ea

a5

396

=14

88

83
1884
118
115
1264
148
168
1ve
175
154
288
214
228
236
386

IF P>I3PRINT °7TT7",

IF P<L1IPRINT #2;F,

BOX G,H,18,12,3;B0X G,H, 16, 18, 3;RETURN

=A;BOX G,H,18,12,2;6=17v8;:H=98; RETURN
D=118;E=128;F=210;U=0; I=0; G=176; H=98; X=8; Y=0

FOR Z=TTO BSTEP -~1;CX=-58;CY¥=48;PRINT #3, Z,,FOR U=17T0 3
B=JX(1)bJ;C=JY(13J;IF B M=B

IF C N=C

IF B=BIF C M=8

IF C=8IF B MN=8

IF (M=8)b(N=B1GOTO 128

IF PXOX+HM, Y+NIGOTO 1BBA

BOX @(D),@(D+13,7,7,2; X=X+M; Y=Y+N; BOX X,¥,J,J,3;i@(E)=X;@(E+1)=Y
IF I=BIF RND (4)=1GOSUB 26

IF I I=I-1;1IF I=1GOS5UB 44

IF (X3G-168)b(X{G+16 b{(¥Y>H-12)b(¥Y{H+12)GOSUR 268
E=E+2;:IF E>F E=8

D=D+2; IF D> D=8

NEXT U;NEXT Z:GOTO SBB

BOX G,H,16,18,35IF P>18G0TO 3846

FOR A=1TO P;S5=5+10;CX=40;CY=48; PRINT #5,5;NT=2;MU="Q" ;NT=8;NEXT A
GOSUB 48;U=U+1; IF U>1BRETURN

D=D-4; RETURN

IF >13G0SUB 358; RETURN

3190 Q=RNHD (7);IF G<{360TO 4886

328 P=RND (4)b2+2;CX=-10;CY=40;PRINT 42,PblB@;FOR A=1TO 58@;NEXT A;CX=-18;CY=48;
PRINT -~ *",:;GOTO 211

358 Z=Z+18;CX=-58; CY=48;PRINT #3,Z,:;NT=3;MU="E" ;NT=8;60T0 228

400 P=-(RND (18));CX=-18;CY=40;PRINT #2,PblB, ;&(21)=38;&(13)=158

482 FOR A=1TO SAB;NEXT Aj;S=S+PblR;CX=48;CY=40; PRINT #5,S5;CX=-185CY=18;FRINT *
483 IF S<8S=0;CX=48;CY=40;PRINT #5,5,

1
1
1

418

508
51@
528
530
548
0e8
8a5
P18

&(19)=8; &(21)=8; GOTO Z28

BOX @, -5,158,78,2; CX=-24; CY=8; PRINT “GAME OVER

CY=-8;CX=-38; PRINT “PLAY HUSTLE

CY=-24;CX=-48; PRINT "BY SUPER SOFTHARE

IF &(233RUN

GOTO 538

&(21)=31;FOR A=1ATO 1S@STEP S;BOX X+RND (1@)-5,Y+RND (1B)-5,7,J,3
&C19)=A;NEXT A;&(21)=0;&(19)=08

FOR A=1TO 588;NEXT A;G0TO 580

18888 BOX @,-5,166,78,1;:;B0OX 8,-5, 150,708, Z; RETURN

>



